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1] FRETHHEE 0.07 - 0.08 -
| 2] REfE 0.07 - 0.07 0.06
| 3 BEREM 0.07 - 0.06 -
4 ARV SHE 0.07 - 0.06 -
| 5] ATIERER 0.06 - 0.05 -
| 6 RAHHE 007 - 0.06 -
|7 HREBEEHLIES - - - -
|8 BUOSFREE 0.07 - - -
9] HIFHHE 0.07 - 0.07 -
10| 7H278 ALHREERIILY 0.06 - - -
1] GENNKI-C R EE 0.06 - - -
12 R E AR 0.07 - 0.07 -
| 13] =ARAEE 0.06 _ N _
14 TRy RAU-EEE| 005 - - -
15) B |OEYHRE 0.06 - 0.06 -
| 16] E %’Eﬁ’:ﬁﬁﬁ 0.06 0.06 0.06 -
17 B i@;;;j’[””—""ﬂ* 0.07 - - 0.06
18] REFLU-CSVFEAABE| 006 0.07 - -
19 REEIE-HIEC 0.06 - _ _
20 THhELREER 0.06 0.07 0.06 -
[ 21] KRB 0.06 0.06 0.07 -
| 22| E/vFAt 0.06 0.05 - -
[ 23 KRB 0.06 0.06 0.06 -
| 24 VEDYREE 0.06 - 0.05 -
A P BRRER 0.05 - 0.06 -
2 BERAEM 0.06 0.06 0.06 -
7] REUHNLEEE 0.06 - - -
| 2| EILFHHE 0.08 0.08 0.08 -
[ 29] FREHE 0.07 - 0.07 -
E) HAMEE R 004 007 - -
[ 31] BECEHE 0.08 - 0.07 -
| 32 T REFIIREFR 0.06 - 0.06 -
% JA 308 f@ D_tg:{i’:ia i 0.06 0.06 o.(je -
| 34 = |- Af 0.07 0.08 0.06
35 KIHREFR 0.07 0.08 0.07 -
36 BIIRAERM 0.07 0.07 0.08 -
E LHREF 0.06 0.06 0.06 0.06
| 38, q  [EHEER 007 0.05 0.06 -
% 7R 298 E ;;z::ff i 0.07 0.05 0.06
| 40] = FUREF 0.08 0.06 0.06 0.06
41 BXEREM 0.07 0.06 0.07 0.07
| 42] AOUREE 0.06 0.06 - 0.07
43 FYRREE 0.04 - 0.05 -
44| 7TH308 | & (FEKEEM 0.07 0.07 - -
45 it |EmEEmn 0.07 0.06 0.06 007
| 46 77228 tJ1:t EIRGER 0.07 0.06 0.06 0.07
47 X [#BIHREF 0.07 0.06 0.07 0.09
48| 7A218 | 4t |HEMRESH 0.07 - - -
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